EHRBERIERERRE

[ Fear )

p = 3 =
E— IR

TR
~HEH R244E8 H20H HAEH
AT  AEE AR HES o
sC= | No 1cm | 50cm | 100cm | f&E#& || 25 | MNo icm | 50cm | 100cm | {&&
A -5 0.14] 019 0.17 T
C 18 0.11 0.13 0.12 *

D 20 0.07 0.11. 0.12 +
G 771 - 0.15 0.13] 0.12 +
H 79 0.14 0.14 0141 As
H 92 0.16 0.13 0.12 +
H. 94 0.21 -0.17 0.11 +
H 96| 0.14 0.16 0.14 +*
I 99 0.13 0.15 0.13 +
I 102] ~ 0.12 0.13 0.12 ol
-J 120 0.14 0.17 0.15 x*
J 134 0.08 0.11 0.11 *
J 135 0.09 0.10 0.11 +
K - 139 0.20 0.17 0.18 *

. K 150 0.09 0.10 0.10 ol
K 151 0.08 0.09 0.09 +
K 153 0.08 0.08 0.10 +
L 156 0.18 0.17 0.16 -+
L 167 0.09 0.10 0.10 x
L 168 0.08 0.09 0.10 i
L 169 0.07 0.10 0.10 T -

L 170 0.07 0.10 0.09 e
L ~1711 - 0.08 0.10 0.10| =+
M . 177 0.19 0.18 0.17 +
N 195 0.09 0.12 0.13 +
N 200 0.17 0.18 0.16 x
N 201] 0.11 0.11 0.13 +
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E25 | NO. ‘ Tom 50cm 100cm | Z@E | NO. | ™ fcm 50cm 100cm

B | 12] & 0.1 0.11 0.11 - ' ~
B | 13| & 0.10 0.10 011 -

B | 14| 0.13 0.10 0.1

B | 15] & 0.09 0.11 011 -

B | 16| * 0.11 0.11 0.12 -

F |76 ] ® 0.10 0.11 012 -

G | 89| % 0.10 0.13 0.13 -

H |102| % 009 | 0.9 0.09 -

1 | 117 = 0.08 0.10 0.10 -

1| 118 £ 0.08 0.09- 0.09 -

J | 133 £ 010 | 0.10 0.11 -

M 171 ] £ 0.10 0.10 0.11 -

M | 179 £ 0.07 0.10 0.11 «

N | 188 ]| * 0.08 0.09 0.09 .
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EEINO, B Tlom | 50cm | 100cm JEE5INO,| - : fom | 50cm | 100cm
B8 =z 0.23 0.22 0.2 B| 8| 1BE | 0057 | 0066 | 0087
= 2[BE | 0050 | 0.069 | 0079
3EIE | 0047 | 0073 | 0077
4[E[H | 0053 | 0.070 | 0074
5EE | 0056 | 0.065 | 0.069
Ty 0052 | 0068 | 0077
‘ cl 22 EE | 01z 0.124 | 0.108
0.23 0.16 0.17 - 2[BIH | 0.141 | 0130 | 0116
.1 22 * 3l 0.129 0.131 0.120
4RIH | 0128 | 0122 | 0120
5EIE | 0129 | 0.115 | 0.103
i Ty 0.130 | 0124 | 0113
D 34| 1EIE | 0044 | 0057 | 0072
] -2[8l§ 0.044 0.057 0.063
» ' 0.23 0.2 0.16 3|8 | 0051 | 0061 | 0057
D ?4 * . 4B | 0051 | 0.060 | 0057
5[EH | 0046 | 0.061 | 0054
EYg | 0.047 | 0059 | 0.060
D[ 35| 1EIH | 0058 | 0051 | 0081
2B | 0049 | 0060 | 0064
: 3[BlH 0.054 0.058 0.063
: 0.24 0.18 | 0.9 4BIE | 0052 | 0064 | 0058
D139 = 5[alH 0.050 0.062 0.060
EH 0.052 | 0.059 | 0.061
E |50 1HHE | 0052 | 0083 | 0100
2[AH | 0058 | 0091 | 0098
3[|IE | 0055 | 0090 | 0089
— 411H | 0056 | 0.084 | 009
E | 50 B 0.24 0.19 0.15 SEIH | 0065 | 0076 | 0.104
B 0.057 | 0.084 | 0097
BEERT . ~
1EIE | 0061 | 0140 | 0165
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BESAT | Hhis HES BlES - | HhRg | BES
(85 | No. [#EAI] fcm 50cm | 100cm || 2% | No. |FEAI| 1cm 50cm | 100cm
A 2| £ 0.10 0.11 0.12 P 10| 0.08 012 0.12
A 4 £ 0.10 | 0.13 0.14 Q 10f + 0.14 0.12 0.11
A 6l + 0.09 0.09 0.12 R 10| = 011 0.12 0.12
A 15| .& ~ 0.08 0.13 0.12 S 2l 0.15 0.14 0.13
B 20 + 0.10 0.10 0.09 S 6] - 0.09 012} - 0.13
C 21 £ 0.21 0.14 0.14 S 71 0.14 0.14 0.14
D 11 T 0.07 0.09 008 'S 8l 012]  0.15 0.13
D 2| £ 0.07 008} - 0.10 S 9] T 0.10 0.11 0.13
D 3] & 0.12 0.12 0.10 S 10| £ 013} 0.15 0.14 .
D 4 x 011 ] ~-0.12 0.11 S 13| *+ 0.09 0.10 0.11
D 5| £ 0.10 0.12 0.11 S 14 * 0.14 0.13 0.13
D 19| * 0.07 0.08 0.10 T 2| 0.19 0.16 0.15
E 5] £ 0.13 0.16 015 - T 9] + 0.12 0.13 0.14
E 9] 0.11 0.10 0.10 :
E 0] £ 0.07 0.09 0.10
E 11| £ 0.09 0.09 0.11
E 14] 0.12 0.12 0.09
E 15| 0.20 016} - 0.14
E 16 *+ | 0.11 0.09 0.07
E 17| - 0.10 0.10 0.10
E 19 0.09 0.12 0.11
E 211 As |  0.18 0.16 0.16
F 221 0.11 0.17 0.16
G 1l £ 0.08 0.11 0.10
G 2| & 0.22 0.21 | 0.16
H 1] £ 0.08 0.09 0.08
H 12| x 0.21 0.17 0.17
H 20 + 0.12 0.12 012
l 4 * 0.12 0.11 0.10
J 14| £ 011 0.13 013
J 15| 0.12 0.11 0.12
J 16| * 0.11 0.15 0.14
J 18] & 0.09 0.15 0.13
K 2] £ 0.13 0.13 0.14
K 16] . = 0.13 0.13 0.13
K 17 *+ 0.10 0.11 0.13
K 18| + 0.11 0.13 0.13
L 2] 0.10 0.14 0.14.
L 17] £ 0.10 0.13 0.13
M 2{ 0.14 0.20 017
M 5| + 0.11 0.12 0.12
M 15| + 0.11 0.12 0.13
M 16| * - 0.10 0.14 0.14
O 6] £ 0.14 012 013
0 7| = 0.10 0.11 0.12
0 8| 0.11 0.12 0.12
Q. 9] * 0.10 0.13 0.13
O 10| + 0.13 0.13 2013
0 12| * 0.10 0.10 | 0.10
0 13| * 0.11 0.11 0.12
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525 | NO. B icm 50cm 100cm | 2% | NO. B lom 50cm 100cm
A | 5 | * 0.08 0.11 010 -
B | 25 | *+ 0.19 0.13 0.12
E | 69 | T+ 0.08 012 | o011 -
H | 111 ] £ 0.15 0.14 012 .
H | 112 019 | 0.8 014
K | 153 | =+ 0.09 0.12 013
L | 187 | * 0.11 0.08 0.08 -
L | 189 | =+ 0.09 0.11 012
M | 190 | & 0.15 0.14 0.14 .
M | 208 | £ 0.13 0.17 015 -
P | 255 & 0.10 0.11 0.10 .
Q | 267 % 0.12 0.16 013 .
Q | 2711| 0.09 0.10 011 .
Q | 274.| * 0.09 0.10 009 -
Q | 2715 | £ 0.08 0.10 0.10 -
Q | 276 | * 0.10 0.11 0.10 .
Q | 277| £ 0.21 0.17 0.15 .
Q | 278 % 0.22 0.20 0.18
Q | 284 x | o008 0.11 012 .
Q | 285 | % 0.13 0.12 012 .
Q | 286 | % 0.1 011 012 -
R |202| % 0.12 011 0.12 .
R | 293| £ | o010 | oii 0.10
R | 295 | =+ 0.09 0.10 0.10 .




